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Sally invested 2500 at 4.25% interest compounded quartly for 8 years i

a) What will be the value of her investment after the 8 years?
b) How much interest will she earn?
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- Isabelle borrowed $5000 at 5.25% interest for 3 years.
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TEEVIENT TUT TEST

November 10, 2014

Solve ench of the following using simple or compound interest:

1. Jim wants to invest $8000.00. His bank offers an investment option that cams sim

arate of 3.25% per year. How much interest would Jim earn on his investment after § years?

2. Troy wants to invest $4300.00. His bank offers an investment option that earns interest
compounded quarterly at a rate of 3.2% per year for 7 years, Herwmetrwomfd-e-have-after
“d-yearsi—
+H

Ava's bank offers a simple interest rate of 7% per ennum. Hew much interest wanld Ava eam
on her investment of $63500.00 after 3 months?

4. Ryan wants to invest $630,00. Ilis bank offers an investmer it option that eams interest
mpounded monthlyiat a eate of 6.3% per year for 5 years, Hon-muehwould e buve afier
e ——

5. Ben wants to invest $2950.00. His bank offers an investment option thal ezms interest
compounded biweekly at o rate of 3.9%% per year for 7 years. Hewemarshwould-he Jave attor—
Byearst
Using the simple interest equation caleulate the unknown (I=Pr)

B. The interest earned on a deposit is S89.00 with an interest rate of 4.2% per annum. ifthe
maney was invested for 4 years, what is the principal?

7.

The interest earned on a deposit is $210.00 with an interest rate of 6.5% per annum. If the
maoney was invested for 6 years, what is the primcipal?

8. Theinterest earmed on a deposit of $5000.00 is S7B.00. If the money was invested for 7 years,
what is the interest rate?

9. The interest earned on a deposit of 56250.00 is $32.00. If the money was invasted for 4 vears,
what is the interest rate?

The interest earned on a deposit of $4800,00 is $50.00 with an interest rate of 3.95%. How
many years was the money invested?

imple interest at
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